INSTRUCTIONS: T25UD/T25 ﬁ.‘ UH”B I—EEH

Date: 27/02/07 Check: 03

T25UD/T25 EXTENSIBLE DRIVING BAR



INSTRUCTIONS: T25UD/T25 & EIMNAT=CH

Date: 27/02/07 Check: 03

1. INTRODUCTION ....ooiiiiiiiiic e 2
2. INSTRUCTIONS FOR USE AND MAINTENANCE .................. 2
3. ASSEMBLY MANUAL OF THE T25UD/T25 DRIVING BAR... 3



INSTRUCTIONS: T25UD/T25 & E/NAT=eCH

Date: 27/02/07 Check: 03

1. INTRODUCTION

The Dynatech extensible driving bars are the ideal complement for all lift frame
manufacturers who use our progressive and instantaneous safety gear systems.
Compatibility, simplicity and multi-functionality were the primary criteria when designing

these elements. The result is a notable cost savings for our customers.

Determining the position of the safety gears on the frame is only task that has to be
performed. After that, any component supplied by Dynatech will be installed standard. The
frame manufacturer does not have to make any modification — not even for the distance

between guides — because the driving bars are extensible.

Therefore, the manufacturing cost of the frame is reduced considerably, since it is also

produced standard, thereby providing the following advantages:

Decreased number of working hours by the personnel in charge of manufacturing the

frame.
Decreased number of working hours by the personnel in charge of product quality control.

Decreased financial costs by not having to maintain a considerable stock of different

elements for frame manufacturing.
Reduced product delivery time to the customer.

Overall standardisation in all aspects: Manufacturing tool set-ups, packaging, labelling,

documentary order, etc.

It is very important to take all these aspects into account in view of business profitability

and the competitiveness of your firm.

2. INSTRUCTIONS FOR USE AND MAINTENANCE

The components are very simple, and they require no special maintenance. The most

important points to take into account are the following:

I. The assembly instructions of each driving bar must be followed.



INSTRUCTIONS: T25UD/T25 & E/NAT=eCH

Date: 27/02/07 Check: 03

ii. The screws for the adjustment and fixing of the driving bars to the to the frame and of
the driving bar components themselves have to be tightened according to the
corresponding torque in order to guarantee that none of them come loose and cause the

linkage to work incorrectly.

iii. The location of the linkage on the frame must be appropriate so that the safety gear
works correctly and to prevent interference between the safety gear and the switchgear

inside the shaft or between the guides themselves.

Iv. Impacts and dents must be avoided.

3. ASSEMBLY MANUAL OF THE T25UD/T25 DRIVING BAR

When you receive your T25UD/T25 DRIVING BAR, unpack all the components and
compare them with the attached components list (Form FC-10-46 for T25UD and Form
FC-10-52 for T25) to be sure that you have received all of them.

1. RECEPTION OF THE
DRIVING BAR:

The T25UD and the T25
driving bar are related to
the ASG family of safety
gears from Dynatech. The
driving bar is supplied from
the factory pre-assembled

(1) with the safety gear,

and subsequent
installation on the frame

requires no modification

other than what is

necessary for installing the .
y 9 Figure 1. ASG-100 safety gear assembly and the T-25UD driving bar supplied by

safety gears. Dynatech



INSTRUCTIONS: T25UD/T25 & E/NAT=eCH

Date: 27/02/07 Check: 03

The linkage includes a fitting system to avoid securing the linkage safety gear assembly to
the frame the wrong way round. This consists of a bolt DIN 912 M6x14 (26) that juts out of
from the linkage support and prevents it from being secured to the frame unless the bolt can

be inserted into a hole previously made in the frame.

Where the frame is not modified, simply remove this bolt and secure the position of the

safety gear as indicated by the arrow to fit the linkage.

Figure 2: Bolt for securing the linkage to the frame in only one way



INSTRUCTIONS: T25UD/T25 & EIMNAT=CH

Date: 27/02/07 Check: 03

2. ASSEMBLY OF THE LINKAGE ARMS (2N
AND SHAFT:

After installing the safety gear (1) on the fame,
introduce the arms (3) inside the driving bar
axle (4), as shown in FIGURE 2.

Figure 3: Positioning of the arm and the driving bar axle

with the rest of the assembly.

Next, position the previous
assembly between the safety
gears installed on the frame, as
shown in FIGURE 3.

Figure 4. Positioning the shafts between the safety gears.



INSTRUCTIONS: T25UD/T25 & E/NAT=eCH

Date: 27/02/07 Check: 03

Connect one of the two
arms (3) to one hub
support (2) using a DIN
912 M8 x 25 cylindrical
head screw (5) and a
DIN 6798 lock washer.
Perform the same

operation with the hub
(2) of the other safety

gear.

Figure 5: Installing the bar on the hub.

This is one installation option. The driving bar can also be installed as shown below

simply by changing the assembly order.

Install one safety gear on the
frame. Next, connect one of
the two arms (3) to one hub
support (2) using a DIN 912
M8 x 25 cylindrical head
screw (5). Next, install the

other part of the safety gear

plus the driving bar on the
frame, and repeat the bar

connection (3) to the hub (2) Figure 6: Alternative installation of the linkage on the frame.
on the other side.



INSTRUCTIONS: T25UD/T25
Date: 27/02/07 Check: 03

Figure 7: Installation of the linkage shaft

4. INSTALLATION OF THE
OVERSPEED GOVERNOR
ANCHOR:

After installing the driving bar, the anchor
of the overspeed governor can be
fastened on the most convenient side of
the linkage. Simply introduce the
overspeed governor anchor (8) on the pin
extending from the pull rod (11) and
fasten it using a DIN 125 M10 flat washer
(10) and a DIN 471, ¢ = 10 mm elastic
ring (9) for shafts. It also includes a
through hole to be able to install a DIN
94, ¢ = 2 mm cotter pin instead of the

ring.

S JdENATeCH

3. INSTALLATION OF THE
DRIVING BAR AXLE:

The installation is completed by
adjusting the arms within the
tube (4) and tightening the DIN
912 M6 x 20 bolts (7). It is
important to ensure that the tube

is symmetrical to the two arms.

Figure 8: Installation of the overspeed governor

anchor.



INSTRUCTIONS: T25UD/T25
Date: 27/02/07 Check: 03

dENMAreCH

The tensor assembly is included in the T25 driving bar but is an option of the T25UD

driving bar (is not standard). It should be requested if the inertia of the cable system of the

overspeed governor is very high. This occurs for very long cable lengths or with large

diameter cables.

It must be installed on the support plate of the side where the overspeed governor

anchor (8) is located.

5. TENSOR ASSEMBLY
INSTALLATION:

Install the tensor support (20) as
indicated in FIGURE 8, and
fasten using DIN 933 M5x14 bolts
(26) and DIN 127 M5 washers
(27). Then align the two axle
supports (21) with the tensor
support, and subsequently insert
the DIN 931 M8 X 100 bolt (22)
through the drill hole of the
support axle (21) and of the
tensor support (20). Introduce the
spring and complete by fastening
the assembly using a DIN 125 M8
washer (24) and a DIN 985 M8
lock nut (25).

Figure 9: Installation of the tensor assembly.

Next, the other DIN 931 M8 X 100 bolt (29) is sent through the free drill holes on the axle
supports and through the spring (23), as shown in the figure. Finally, the assembly is
completed by a DIN 125 M8 washer (30) and a DIN 985 M8 lock nut (31).



INSTRUCTIONS: T25UD/T25 t y UH”E I-EEH

Date: 27/02/07 Check: 03

Figure 10: Installation of the springs of the tensor system. Figure 11: Final layout of the system

As an option, Dynatech also offers the necessary limit switch for cutting power in the

event that the safety gear is activated.




INSTRUCTIONS: T25UD/T25 & EIMNAT=CH

Date: 27/02/07 Check: 03

_10_



dENMAreCH

INSTRUCTIONS: T25UD/T25

Check: 03

Date: 27/02/07

] |

g

] ol A—V [z

sadopuns | B s

IR

(E|ED 5

LE MAC oM 000 ONed | WO 894N ND93S VIDNYETIOL NIS S¥aldan

SEIN0I A ISA0

A1an3ss ST o) =
H¥A 9NN T18ISHILT SELMANSEL COLNNFHOD
A [TET: V) @ _
tu.luh m:mn .__.._. LN N OdavaILNY D Wm_
| Be9 | GO |G| Sa | 9l )
5% | B9 | S | ww | & gl
% | P69 | Y9 (S| 9w | 7l . 5
8% | Bl | S0 | Fu| & £l = o =
AP EL A
St6 | B | S9C | wer| fE I
Wo| BR[| OE | XA | SEL | 0O O]
806 | BB | 06 |GG BT b
N ECIEA L
976 | EEL | O0E | S/vP| 7D | i o]
! | | L] 1 HLOMA
0
S|UBLIBINSEA}Y
o
°ro
]
& | _ _
- 0 0
o
Www go0g OL 009 INO Y4 S3dIND NIIMLIF IDINVLSIA
] [

¥ M_V [

-11 -



| G | ¥ AT £ Il

9
BERE: B Al s CIEDER]
L0 BAL oM 07 OKd | FE SO0 NI D935 WIINYETIOL NIS SWald3m
Nl SEINOITEAE3SA0 0
an Gel+an osw - -
e E w0 Fluan T
a|guias wasaddribneg /A quassyouniion Faien HED]

AN Sel+an 95%  ‘oLNnrNod

dENMAreCH

INSTRUCTIONS: T25UD/T25

Date: 27/02/07

Check: 03

NE LGN

HI2IBURC S

JeuaE

SOLHAPN G D 4o d O alLNY 2

THECREE AP AT
go | fen | o [ wo | @ [ 9
o | 69 | S (S0 5% [ 1)
A EN AR
A EREAEE AN
AR IR
W | B6 | ME [ &% SE | 0
ceg [ € | 0 [w | & | 6
AN REEIEA
ooo [ € | e [mw] @ [ 4
NN EREEEE:
30n9MNG

8Ll

a0z

(FLXOW ZLE NIQ) IHOAYHO

-
=
[x] [}
n

Gl

Co'it

a2

GGG

£e'29




2] ] =] | F AT £ ] Z

[}

dENMAreCH

Check: 03

a0z

HE EETTH R SR ]
LE NAQ 17003 otnvna 118 S NOOm8 MO vaasan 599l
SCL+OSY EE RN L .
a|guiasLugaddniBnegyAlquiassyaiunuag BT R
T 2
mwun_u OLMArHOD — @ =
Lo -] \J
A | \/ |mwl
tul.ul_.\ N-an TOLNAPH 004 Od O70ILH D & __
O © %@ X
e r'y
9% w6 3l © © ) S
T 596 986 gl I —
Gy 596 98 bl B _
Tw i [1% fl = o o]l e .
g 986 956 i} S :
Fa 786 75 |l | R
T 0 (Wi 0l o)
e 0E |16 b © © n_. o
Ty 0 6 T O
LA 0 (Wi !
2
e | Wulp | lwls | yemang m_m_. __ S, ¢ mﬂ ddn
Jenf ap eIy o
sainseajyuabnssawqyjsiuawainseapysepipaly = ,mv@
B 5Ll
2 o P
n
LW —— s Y S— I 3
|3 .— 1| L - (11
LWl oooe sid o 5 2
009 NOA NAMNAIHDSSONNEHDd NAHOSIAME NV 1LSHY I @
e —
W 0ooe v 009 30 33AIN9 d41Md SADNY1LSIA 4 [

W 00oE OL 009 WOdd 23AIN9 N3dAA L9 JDNY LS|

LW 000g v 009 30 8¥| N9 4 LN 9IONYLSId

INSTRUCTIONS: T25UD/T25

Date: 27/02/07




dENMAreCH

9%-01-04

PELeD duioLoe g | QI e DL Y

uondo duy oL32913

shuuds 7 SeE Wy 7
o . o voddns Buisua | |
OTIN €86 NI sinu }ao1qomy ¢
S STT NI s12Use Ay T
O0TXBIN 8'8 T€6 NI sM23E5 T _
NOILdO WHILSAS Loddns apey g 4Eq BUlALp
ANsz1 pejgusassesald

MOSNAL ZHL A0 SAMTIIS e

uojjdo waysAs iosus|
CTHEBIN 88 TTo NI sMIdg T
0CXOIN 88 TTo NI SMad§ ¢
0Tald TL+ NI 5ull ApJeg 1
OTIN €TT NI 1eUseAN T

QTN 86L9 NI SIaysem JI0[ pajenag 7 Jeq Buiaup aNsz L

pajquasseald 14614

Check: 03

INSTRUCTIONS: T25UD/T25

Date: 27/02/07

_ afieyul| +dN00L-95Y L
Ve loudsang |
DNLTIT AASTL AHL A0 SHAIIS
1 40 1 3Ovd
: dvd ONIAIYA aNszL AHOTONHDIAL ¥ SOINVNAQ
£0/c0/Le 31vd IHL 40 SLNANOJWOD HOAIVNAQ
3HL 40 NOILYOIILNAAI




dEN1A7eCH

INSTRUCTIONS: T25UD/T25

Date: 27/02/07

Check: 03

¢5-01-04

sfunds 7

0TIN §86 NIQ $InU 320[qoINy T
ST STT NI $19UsEAN T
00TXSIN 8’8 T€6 NI $M2195 T

STNSIN 8'8 TT6 NIQ smaldg

0TX9IN 8'8 TT6 NI $MaIg

0124 1L+ NIQ 5uLr A5eg

OTIN STT NI J2Use Ay

SN 86.L0 NI SI2seAL 0] pajelray T

1 et = 1

10B1000 dujoulosg |

uondo duj 2130913

voddns Buisus | |

voddns a|xy ¢

afiequl
loldaang |

a|xe Jed Buialg |

safxe Wiy 7

Jeq Buisup
571 pajgwessesld
a1+ 00L-95W |

Jeg Bulaup
Szl pe|guesseaud
WhIg + 00L-95% |

qvVd

ONLUHA £8L HHL HO SHHYIS
| 40 | -39Vvd
L0/20/ /T -31vd

dvd ONIAIYEA 91
3HL 40 SININOJNOD
3HL 40 NOILYOI4ILNEAdI

ADOTONHOAL &% SOINVNAJ

HOALVNAQ




	T25UD/T25 EXTENSIBLE DRIVING BAR
	1. INTRODUCTION
	2. INSTRUCTIONS FOR USE AND MAINTENANCE
	3. ASSEMBLY MANUAL OF THE T25UD/T25 DRIVING BAR

